Writea sort note on the following
i) Thefollowing sequence of operation is performed on a stack:
push(1) , push(2) ,pop , push(1) ,push(2), pop ,pop,pop,push(2),pop
determine the sequences of popped out values.
Solution- let assume the sequence (2,2,1,1,2) fill into stack.

Pop sequence can be like this

Operation stack pop sequence
Push 1 1

Push 2 12

Pop 1 2
Push 1 11

Push 2 112

Pop 11 2,2
Pop 1 2,21
Pop Empty 2211
Push 2 2

Pop Empty 22112

i) Writethe preorder expression of the following algebraic expression

[a+(b-c)]*[(d-e)/(f+g-h)]
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iii)Arrange the following complexity function in increasing order.
O(n?), O(n%), O(nlog), O(2") , O(log n) , O(1), O(n*), O(3"), O(Wn), O(n")

Answer- O(1)< O(log n) < O(v/n)< O(nlog)< O(n?)< O(n%)< O(N*)< O(2"< O(3M< O(n")

iv)What isthe run time compexity of quick sort when thelist is alr eady sorted.
Answer-O(nlogn) [ it aso depend on pivot selection]
v)What is garbage collection .

answer- Garbage collection is the systematic recovery of pooled computer storage that is being
used by a program when that program no longer needs the storage. ... Garbage collectionis an
automatic memory management feature in many modern programming languages, such as Java and
languagesin the . NET framework.
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“How we can reduce the no of bits while representing the data which will result in saving of
space while storing data and saving transmission time.conclude your answer by solving the
mention string.

String: aaba acdaabbbd eaaaaabbddcccdcaabbcaaabbaabbaa

How many bits we required by using 8 bit ASCII Code, by using own code , and by using
huffman,salgorithm.
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. Suppose we have an array of numbers a[l]................,a[n] in which the first i number

;] 1 1 PO ,ali] has been sorted into ascending order , and remaining numbers
afit1],eeeeeeennnnnnnns ,a[n] has been in descending order.The aim is to sort the entire array in
ascending order, design an algorithm which merges the two sorted lists into a second array
1] 1§ P ,b[n] and copies the result back into a. show that the algorithm takes time
o(n).
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Design a data representation which sequentially map n data objectsinto an array a[1,n], nl
of these data objects ar e stacks and remaining n2 equal to n-nl are queues. Write algorithm to
add and delete elements from these objects.
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